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4. Both OP-Amps in following figure are ideal. Please calculate vy/viy and Rin = vin / iin. (20%)
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1. Find ir(0"), ve(0h), d i(07)/dt and d vc(07)/dt for the circuit shown below. Assume that switch =
1 has been open and switch 2 has been closed for a long time and steady-state conditions }-—' Va
prevails at t = 0" (20%) =
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.>< 20 2A 5. For the circuit shown below, please calculated:
A
a5 Switch 1 VWV i, l (1) The resistance R which makes the transient response critical damping. (10%)
- (2) Vou with a given R = 5.2Q and V;, =0 (t <0), 10xe™ (t > 0). (10%)
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2. Find the Thévenin equivalent circuit for the circuit shown below. (20%)
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3. A three-phase circuit shown below, with phase voltage V,= 127 £0°V, V=127 £-120°V, V.
=127 2 120°V, and load impedance Z, = 9 + j12€Q. Please calculate:
(1) Line current I, I, I.. (10%)
(2) The real power, reactive power and power factor of the load. (10%)



